Name:

Subtraction Challenge

1.87-14=__  11.54-14=___

Solve the equation.

2.46 -13=___ 12.55-11=___
3.96-7=___ 13.84-8=__
4.67-12=___ 14.52-12=___
5.72-14=__ 15.61-11=__

6.80-11=_ 16.84-20=___

7.70-13=___ 17.77-14=___

8.40-14=__  18.82-13=
9.76 -15=__ 19.94-9=_

10.89-14=- ____  20.81-50=__




Answer Sheet

Solve the equation.

1.87-14=73
2.46 -13 =33
3.96-7=289
4.67-12=55
5.72-14 =58
6.80-11=69
/.70 -13=57
8.40-14 =26
9.76 -15 =61

10.89-14=7/5

Subtraction Challenge

11.54 - 14 = 40
12.55-11=44
13.84-8=76
14,52 -12 =40
15.61-11=50
16. 84 - 20 = 64
17.77 - 14 = 63
18.82 - 13 = 69
19.94-9=285

20.81-50=31




